25500

@ assembly

| instructions

¢
®actiyve play 5°

premium sand pit
and bench

assembly requires 2 adult
(approx. 3 hours assembly time)

WARNING! Not suitable for children under 36 months — small parts - choke
hazard. Min user age 3 years. Max user weight 50kg. Only for domestic and
supervised nursery use. Outdoor use only. Adult assembly required. Adult
supervision recommended at all times.




Advisory Section

To ensure the safety of you, the installer and your children, it is important that these instructions are read fully before
commencing the positioning and installation of this product. Assembly is to be carried out by a competent adult only.
During assembly children should be kept away from the product due to possible risk of injury. Do not use this item if
any components are missing or damaged.

Keep your sand table safe for the children

1. Always cover the sand when not in use, to prevent unwanted animals from playing in the sand.

2. Regularly check sand for impurities and any other sharp objects that may cause harm to children, including at the
beginning of the season.

3. Use washed play sand suitable for use in children's sand pits.

4. Reguarly change the sand to ensure that there is no build up of mould and to ensure that the play area is hygenic.

5. In windy and adverse weather conditions place the product in a safe area. In these conditions the product may
become a hazard.

6. Use on a flat surface and not to be installed over concrete, asphalt and any other hard surface.

7. Under no circumstances must modifications or repairs not approved by the manufacturer be conducted.

8. The wooden covers are not toys and are not intended to support any weight.

Supervised Nursery Use

When the product is used in a supervised nursery environment, these additional requirements apply:
1. Maintenance must be carried out on a daily basis before the item is used

2. Ensure that the product and any content is clean before the product is used

3. Ensure all surfaces are clean and dry

Timber Advice

This product has been made from premium timber. Great care has been taken in selecting, treating and machining the
timber before it is presented to you. Timber is a natural product and as such may experience changes throughout the
course of its life. This means it may:

4| Develop openings (gaps, slits, apertures, cracks, splits) along the line of the grain. These openings are due to
the difference in moisture content between the internal and outer surfaces of the timber. This is to be expected,
is totally acceptable and will not affect the integral strength, life or guarantee of the product.

4| Warp and distort its shape. Any distortion will be slight and will not affect the safety or enjoyment of this
product.

4| Fade as the timber reacts with sunlight. The timber should be treated with a proprietary product to act as a
protective barrier, i.e. a water repellent, on an annual basis.

M After first year of service treat product with a good quality treatment safe for children’s use.

Routine Maintenance

It is advised that on a regular basis (i.e. at the beginning of the season and monthly thereafter) all main parts/ fixings
are checked as secure, well oiled (if metallic), have no sharp points/edges and are intact. Replace, oil and/or tighten
when necessary. Failure to do so may result in an injury or hazard.

IMPORTANT: RETAIN THESE INSTRUCTIONS FOR
FUTURE REFERENCE

Plum Products Ltd, Plum Products Australia Pty Ltd,
The CIiff, Middle Street 303/154-158 Military Road,
Ingham, Lincolnshire, LN1 2YQ, UK Neutral Bay, NSW 2088, Australia
Tel: +44 (0) 844 880 5302, Tel: 02-99605500

Fax: +44 (0) 152 273 0379 Helpline: 1800 900 161

Email: aushelpdesk@plumproducts.com
www.plumproducts.com

Copyright Plum Products 2013

"0/,
2 ,77:0/‘ Oq,
UCZ‘ S.C o,

L7



WARNING!

Not suitable for children under 36 months — small parts

Minimum user age 3 years

Maximum user weight 50kgs

For outdoor domestic and nursery use under adult supervision only
Adult assembly required

Adult supervision recommended at all times

Retain assembly instruction for future use

Supervised Nursery Use

Maintenance must be carried out on a daily basis before the item is used
Ensure that the product and any content is clean before the product is used
Ensure all surfaces are clean and dry

Assembly is to be carried out by a competent adult only. During assembly children should be kept away from the product

due to possible risk of injury. Do not use this item if any components are missing or damaged
Under no circumstances must modifications or repairs not approved by the manufacturer be conducted

VARNING!

Ej lamplig for barn under 36 manader - sma delar

Lagsta anvandaralder 3 ar

Hoégsta anvandarvikt 50kgs

For anvandning utomhus och pa daghem endast under uppsikt av en vuxen
Montering av en vuxen kravs

Tillsyn av en vuxen rekommenderas alltid

Behall monteringsanvisningarna for framtida bruk

Bor vara under stidndig 6versyn vid anvandning pa daghem

Underhall maste utféras dagligen innan féremalet anvands

Sékerstall att produkten och allt innehall &r rengjort innan produkten anvands

Sakerstall att alla ytor &r rena och torra

Under inga omstandigheter far andringar eller reparationer som inte har godkénts av tillverkaren utféras.

AVERTISSEMENT !

Ne convient pas aux enfants de moins de 36 mois - petites pieces

Age minimum de ['utilisateur 3 ans

Poids maximum de I'utilisateur 50kgs

A usage domestique et créche en extérieur toujours sous la surveillance d'un adulte.
Assemblage par un adulte nécessaire

Ne jamais laisser un enfant jouer sans surveillance

Conservez les instructions de montage pour référence ultérieure.

Utilisation supervisée en créche

Une maintenance quotidienne doit avoir lieu avant I'utilisation de I'article.

Veillez a ce que le produit et son contenu soient propres avant leur utilisation.

Veillez a ce que toutes les surfaces soient propres et séches.

Aucune modification ou réparation non approuvée par le fabricant ne doit étre effectuée, quelles que soient les circon-
stances.



ACHTUNG!

Nicht fur Kinder unter 36 Monaten geeignet — Kleinteile

Das Mindestalter fir Benutzer betragt 3 Jahre

Hdéchstgewicht des Benutzers 50kgs

Nur zur Nutzung im Freien und, unter Aufsicht, im Kinderzimmer
Montage muss durch einen Erwachsenen erfolgen

Sollte nur unter unmittelbarer Aufsicht von Erwachsenen benutzt werden
Bewahren Sie die Montageanleitung fiir eine spatere Nutzung auf

Nutzung im Kinderzimmer unter Aufsicht

Muss taglich vor jeder Nutzung gewartet werden

Stellen Sie sicher, dass Produkt und Inhalt sauber sind, bevor diese genutzt werden

Achten Sie darauf, dass alle Oberflachen sauber und trocken sind

Verénderungen oder Reparaturen dirfen unter keinen Umsténden ohne Zustimmung des Herstellers ausgefuhrt werden

ATTENZIONE!

Non adatto a bambini al di sotto dei 36 mesi. Contiene pezzi piccoli. Pericolo di soffocamento
Eta minima dell'utente 3 anni

Peso massimo dell'utente 50kgs

Per uso esterno domestico e in asilo nido solo sotto la supervisione di un adulto

E necessario I'assemblaggio di un adulto

Si raccomanda sempre la supervisione di un adulto

Conservare le istruzioni di assemblaggio per usi futuri

Uso in asilo nido sotto la supervisione di un adulto

Prima di utilizzare questo prodotto, eseguire quotidianamente le operazioni di manutenzione
Assicurarsi che il prodotto e qualsiasi suo contenuto sia pulito prima di utilizzarlo
Assicurarsi che tutte le superfici siano pulite e asciutte

Non eseguire in nessuna circostanza modifiche o riparazioni non approvate dal fabbricante

WAARSCHUWING!

Niet geschikt voor kinderen jonger dan 36 maanden — kleine onderdelen, verstikkingsgevaar
Minimum leeftijd van gebruiker: 3 jaar

Maximum gewicht van gebruiker 50kgs

Voor gebruik buitenshuis en in peuter- en kleuteronderwijs, alleen onder toezicht van volwassenen
Montage door een volwassene vereist

Toezicht van een volwassene te allen tijde aanbevolen

Bewaar deze montage-instructies voor later

Gebruik onder toezicht in peuter- en kleuteronderwijs

Onderhoud moet dagelijks uitgevoerd worden alvorens het apparaat gebruikt wordt

Zorg ervoor dat het product en de inhoud vé6r gebruik schoon ziijn

Zorg ervoor dat alle oppervlakken schoon en droog zijn

In geen enkel geval modificaties of reparaties uitvoeren welke niet door de fabrikant zijn goedgekeurd



AVERTENCIA!

No es conveniente para niflos menores de 36 meses, ya que posee partes pequenas

Edad minima del usuario 3 afios

Peso maximo del usuario: 50kgs

Para uso al aire libre en el ambito doméstico y en guarderias bajo supervisién de personas adultas exclusivamente
El montaje de este juguete debe llevarlo a cabo un adulto.

Se recomienda en todo momento la supervisién de un adulto

Conserve las instrucciones de montaje, ya que podria necesitarlas en el futuro

Puede utilizarse en guarderias bajo supervisién

El mantenimiento de este juguete debe realizarse a diario antes de ser utilizado.

Antes de utilizar el producto, compruebe que tanto éste como cualquier contenido estén limpios.

Compruebe que todas las superficies estén limpias y secas.

No deberan realizarse bajo ningun concepto alteraciones ni reparaciones que no hayan sido autorizadas por el fabricante.

VAROVANI!

Neni vhodné pro déti mladsi 36 mésict — drobné soucasti

Minimalni vék uzivatele je 3 let

Maximalni hmotnost uzivatele 50kgs

Pro venkovni pouziti doma a v materské $kole pouze pod dohledem dospélé osoby
VyZaduje se montaz dospélou osobou

Doporucuje se po celou dobu dozor dospélé osoby

Ponechejte si montazni navod pro budouci pouziti

Pouziti v matefské skole pod dohledem

Udrzba se musi provadét kazdy den pied pouzitim predmétu

Zajistéte, aby byl produkt a jakykoliv obsah ¢isty a suchy pred pouzitim produktu
Zajistéte, aby vSechny povrchy byly ¢isté a suché

Za zadnych okolnosti se nesmi provadét Upravy nebo opravy nepovolené vyrobcem.

UPOZORNENIE

Nevhodné pre deti mladsie ako 36 mesiacov - malé castice

Minimalny vek pouzivatela je 3 rokov

Maximalna hmotnost pouzivatela 50kgs

Pre vonkajSie pouziie doma a v materskej $kole iba pod dohladom dospelej osoby
VyZaduje sa montaz dospelou osobou

Dozor dospelej osoby sa odporuca po celu dobu

Ponechaijte si navod na montaz pre pripad budiceho pouzitia

Pouzitie v materské $kole pod dohladom

Udrzbu je nutné prevadzat kazdy der pred pouzitiem predmetu

Zabezpecte, aby bol produkt a akykolvek obsah cisty a suchy pred pouzitiem produktu
Zabezpecte, aby vsetky povrchy boli ¢isté a suché

Za ziadnych okolnosti sa nesmie prevadzat Upravy alebo opravy nepovolené vyrobcom.



3 aatiidll yeal L0y aal)

50KgS aasivsall (5 )5l oazadl aal)

L Al i 480 e cond JukY) Ay ) 8 5 Jalall s 7 el 8 alaasl
b pad Jleall o) jal S il ks,

Sl aladin) die ) HLS e aila Bl ) 25 9B ) 5 ey pualy

S aladindl Jleall i Aalall Gilaalailly Jadial

JUlY) A5y 3 il all alaainy)

3 sall alaziuly SLall (8 Ga sy Dlall ¢l ja) g
C_\.\AS\e\mbehﬂ\dﬁ;n:\hb\}ﬁmd\}@;d\u\écua}\

Ala 5 didas & shaud) aaea O e Gaal

G g laia¥) oL il e JhY) sl 3l s Jadh Gaide Jlb padd J8 (e plaial) die g
3y piale 5 53 it Ll sSa (e (sl il 13) Balal) 028 axdius ¥ Alal) jhad Jlaial

Y e i sl minall daiadl) 48 580 U8 (e sadine e Gladla) 5 CBast o) al maws ¥

OSTRZEZENIE!

Nie nadaje sie dla dzieci w wieku ponizej 36 miesiecy — mate elementy

Minimalny wiek uzytkownika: 3 lat

Maksymalna waga uzytkownika 50kgs

Wytacznie do uzytku domowego na dworze oraz do uzytku w ztobkach i przedszkolach pod nadzorem osoby dorostej
Wymaga montazu przez osobe dorosta

Zalecany jest staty nadzér osoby dorostej

Zachowaj instrukcje montazu na przyszios¢

Do uzytku w ztobkach i przedszkolach pod nadzorem

Codziennie przed uzyciem produktu nalezy wykonac czynnosci konserwacyjne

Przed uzyciem produktu nalezy upewni¢ sie, ze produkt (oraz jego zawartosc) jest czysty

Nalezy upewni¢ sie, ze wszystkie powierzchnie sa czyste i suche

Produkt musi ztozy¢ kompetentna osoba dorosta. Produkt nalezy sktadac¢ z daleka od dzieci z uwagi na ryzyko odniesienia
obrazen ciata. Produktu nie nalezy uzywac, jezeli brakuje jakichkolwiek czesci lub jezeli ktéras z czesci jest uszkodzona

Nie nalezy nigdy przeprowadzac¢ zadnych napraw ani modyfikacji nieautoryzowanych przez producenta

ADVARSEL!

Ikke egnet til barn under 36 maneder - sma dele, fare for kvaelning
Minimum brugeralder 3 ar

Maksimum brugerveegt 50kgs

Kun til anvendelse udendgrs og i barnevaerelse under voksent opsyn
Skal samles af en voksen

Ber altid anvendes under opsyn af en voksen

Gem samlevejledningen til fremtidig brug

Brug af overvaget bgrneveerelse

Vedligeholdelse skal udferes hver dag, for enheden anvendes.

Soarg for, at produktet og evt. indhold er rent, for produktet anvendes.

Saerg for at alle overflader er rene og terre

Der mé& under ingen omstaendigheder udfares aendringer eller reparationer, der ikke er godkendt at fabrikanten



UYARI!

36 ayliktan kligUik ¢ocuklar i¢in uygun degildir — kiiglk pargalar
Minimum kullanici yasi 3 yil

Maksimum kullanici agirhg 50kgs

Yalnizca yetiskin gbzetimi altinda dis mekan ev ve kres kullanimi igindir
Bir yetiskin tarafindan monte etmesi gerekir

Her zaman yetiskin gdzetimi énerilir

Montaj aciklamalanni ileride kullanim i¢in saklayin

Gozetimli Kres Kullanimi

Uriin kullaniimadan énce giinliik olarak bakim yapilmalidir

Uriin kullaniimadan énce, Griinin ve icindekilerin temiz oldugundan emin olun
TUm ylzeylerin temiz ve kuru oldugundan emin olun

Montaj yalnizca yetkin bir yetiskin tarafindan yapiimalidir. Yaralanma riskinden dolayl montaj sirasinda ¢ocuklar Griinden uzak

tutulmalidir. Bilesenler eksik veya hasarliysa bu triinl kullanmayin.
Hicbir kosulda, imalatgi tarafindan onaylanmamis olan degisiklikler veya tamirler yapilmamalidir

FIGYELMEZTETES!

Nem alkalmas 36 hénapnal fiatalabb gyerekek szamara - apré részek

Minimalis felhasznaldk kora 3 év

Max. terhelhetdség 50kgs

A kiltéri hazi és 6vodai hasznalat kizardlag felnétt felligyelete mellett engedélyezett
Felnétt 6sszeszerelése sziikséges

Minden alkalommal egy felnétt felligyelete mellett ajanlott

Orizze a szerelési utasitast késébbi hasznalatra

Az 6vodaban a felligyelet kotelezé

Uriin kullaniimadan énce giinlik olarak bakim yapilmalidir

Uriin kullaniimadan énce, Griinin ve icindekilerin temiz oldugundan emin olun

TUm yUzeylerin temiz ve kuru oldugundan emin olun

Hicbir kosulda, imalatgi tarafindan onaylanmamis olan degisiklikler veya tamirler yapilmamalidir



WOOD: PARTS LIST

PART ID QUANTITY A\ FASTENER LIST:
D1800 E ' : : 3 ]
2 | 1162x120x 18mm___| M4 x 30 30mm X6
l:| qmmmnﬂ
D1801 — 12 x159
A 120 x 44 x 44mm M4 x40 _40mm_|
D1802 B 4 <t
A 120 x 88 x 88mm M4 x 50 50mm X6
2 D803 1162x120x 18mm___| 1 M4 x 60 ““‘““‘““‘“Mmm x12
A\ DI1804 120088 xi5mm ] 4 /\ FABRIC LIST:
A\ D1805 . . . 2
L 740x120x 18mm | D1826 .
A 1
é D1806 5
| 517x120x28mm _|
- 1250 x 1250mm
A .v
D1807 ' | 1 .
| A 625 500 x 28mm TOOLS REQUIRED:
/A D1808 |_869x88x15mm _| 1
D1809 /-. A\ x1
D1810/ ° Ax1
D1811/ A\ xT
2 SAND NOT INCLUDED:
D1812 /- . x1
D1813 . X1
| 1200 x 88 x 15mm | 2
- < (4
/\ D1814 Z x1 /N D1815 ij 1 [E ; ; a1
50% = 105Kg
505 x410x 28mm 505 x410 x 28mm
A\ D1816 ‘ ‘ x1 A\ D1817 ‘ H 1 H@
595x 120 x 18mm 595x 120 x 18mm
IE : : 01
)
: > 100% = 210Kg
D1818 %2 D819 ° |
A |_335 x 40 x 28mm & L 284 x 44 x 44mm __|
D1820 ) . “\x1
A D1821 \ x
D1822 /. . A x1
\ 1005 x 88 x 15mm |
/\ D1823 | J 1
|_250 x 40 x 28mm
/A\ D1824 x2 A\ D1825 | 2
.. : :; . 930x68x24mm |
100 x 550 x 15mm _|
Wy, WOOQOD PACK: A A

W,
0/,
8 o 0q,
Uc, tS, o,



D1800 |: - x3 D1801 ] x6 D1802 B x3
| B

. 1162x120x18mm _| 120 x 44 x 44mm —
120 x 88 x 88mm

< 18
M4 x 40 40mm X

D183 |© . : . i ] x1 D801 ] x2 D1802 B X1
[ E——
o | 1162x120x 18mm___| 120 % 44 x 44mm

120 x 88 x 88mm

<oy o
M4 x 40 40mm X




VAN / D1804

<t o
M4 x 40 LMJ X

x4

1200 x 88 x 15mm____|

<] 16
M4 x 40 LMJ




D1805 |.

. x2 D1806

740x120x 18mm

| 517x120x28mm _|

[ DS | R ——

x3 M4 x40 WOmm x12

s
M4 x 60 60mm X6




D1807 | x1

| 825 x 500 x 28mm _|

D1808 /. ~ . T T\ xI
| 869 x88 x15mm__|

<t 4
M4 x 40 40mm X

°\x1

A x1

.\ X1

. . X1
1200 x 88 x 15mm \

< 36
M4 x 40 40mm X










D1818 | | = x
\ 335 x40 x 28mm

°
© O“‘X1

\ 284 x 44 x 44mm \

<t o
M4 x 60 60mm X

D1819

mms.lll....ll’x1
\

335x40x28mm

D1819

°
® O"x1

\ 284 x 44 x 44mm \

<t o
M4 x 60 60mm X

w4
M4 x 40 40mm X
















UK
Plum Products Warranty

This product is guaranteed for twelve months from the date of purchase against manufacturing defects. The warranty is
conditional on proof of purchase being presented in the event of a claim.

The warranty is registered to the original owner and is non-transferable. Regular maintenance is required to ensure safety,
maximum life and performance of the product. Failure by the owner to maintain the product according to the maintenance
requirements may render this warranty void. Maintenance guidelines are in the Instruction Manual provided with the
product.

Plum Products® Ltd supplies safe, quality products. Any modifications made to the original product could damage the
structural integrity of the unit leading to failure and possible injury. Modification shall render the warranty void and Plum
Products® Ltd will accept no liability for any modified products or any consequences resulting from the failure of a modified
product.

This product is warranted for domestic use only. Under no circumstance should the product be used in public or
commercial settings such as schools or playgrounds, any such use may lead to product failure and potential injury. Any
public or commercial use will render this warranty void.

These conditions do not affect your statutory rights as a consumer.

AUSTRALIA
Plum Products Warranty

Subject to proper installation and normal residential use, Plum Products (“Plum”) play products are warranted, subject to
the limitations stated below, to the original retail purchaser or owner to be free from manufacturers defects in material or
workmanship for a period of 1 (one) year from the date of original retail purchase.

All warranties may be registered. To register your warranty please visit www.plumproducts.com and retain your proof of
purchase for the warranty period.

Goods covered under this limited warranty will be replaced or repaired, at our option, and returned to the customer at no
cost to the customer. Plum reserves the right to examine photographs or physical evidence of goods claimed to be
defective and to recover the goods prior to settling a warranty claim.

Non -residential use of the play products is prohibited and there will be no warranty for any commercial, competition or
playground use as these products are designed for residential use only. No warranty shall apply on equipment subjected to
abuse, negligence, improper installation or use, vandalism, acts of God, unauthorised alteration or attachment to other
equipment, improper use or repair by the customer or a third party.

Whilst every endeavour is made to ensure the highest degree of safety in the product, freedom from injury cannot be
guaranteed. It is essential to install correctly in accordance with installation instructions, supervise your children’s play
activity and maintain your play equipment periodically according to manufacturer guidelines.

This warranty does not cover scratching or scuffing of the product as a result of normal wear and tear and any minor
defects which do not affect the functionality of the product. This warranty is expressly in lieu of all other warranties, express
or implied given by Plum.

Your statutory rights remain unaffected. Our goods come with guarantees that cannot be excluded under the Australian
Consumer Law under which you are entitled to a replacement or refund for a major failure and for compensation for any
other reasonably foreseeable loss or damage. You are also entitled to have the goods repaired or replaced if the goods fail
to be of acceptable quality and the failure does not amount to a major one.

To make a claim please contact us immediately on our customer service number or email below.
Telephone Plum Customer Services: 1800 900161
Email: Aushelpdesk@plumproducts.com

All claims must be made within 14 days of purchase or within a reasonable time of awareness of defect and must be
accompanied by proof of purchase. Please therefore retain proof of purchase. Plum may reject claims which are not made
within a reasonable time and/or where there is no proof of purchase. Plum will meet the cost of all agreed and validated
claims.

Thank you for purchasing our product.
Plum Products Australia Pty Ltd,303/154-158 Military Road, Neutral Bay, NSW 2089, Australia.

125500A0313



	25500_01_Sand_Pit_Bench_Instruction_Front_Page_Colour
	25500_02_Sand_Pit_Bench_new_advisory
	25500_03_Sand_Pit Bench_Instruction_Safety
	25500_04_Sand_Pit Bench_Instruction_Safety
	25500_05_Sand_Pit_Bench_Instruction_safety
	25500_06_Sand_Pit_Bench_Instruction_Safety
	25500_07_Sand_Pit_Bench_Instruction_safety
	25500_08_Sand_Pit_Bench_Instruction_parts_list
	25500_09_Sand_Pit_Bench_Instruction_01
	25500_10_Sand_Pit_Bench_Instruction_03
	25500_11_Sand_Pit_Bench_Instruction_05
	25500_12_Sand_Pit_Bench_Instruction_07
	25500_13_Sand_Pit_Bench_Instruction_09
	25500_14_Sand_Pit_Bench_Instruction_11
	25500_15_Sand_Pit_Bench_Instruction_14
	25500_16_Sand_Pit_Bench_Instruction_17
	25500_17_Sand_Pit_Bench_Instruction_19
	25500_18_Sand_Pit_Bench_Instruction_21
	25500_19_Sand_Pit_Bench_Instruction_23
	25500_20_Sand_Pit_Bench_Instruction_last_page

